Installation Manual

Engine + gearbox skid plate 2111.2730.1.3
Brand : Model : Year . Engine : Gearbox Drive
Jeep Wrangler 2007- 2,8 Manual Full
Left bracket OE fitting

Bolt M10x30 Right Bracket

Spacer Washer 10 —

\ Washer spring 10
OE Fitting

Bolt M10x30
Washer 10

- Washer Spring 10
— Skid Plate

Countersunk Nut M10x100/50 - OE Fitting

OE Fitting - Bolt M10x30
% Washer 10

Washer Spring 10 ~

& - 1 1
Installation Instructions: Content: | !
- o . Name: QTY | Torgue

.Remove OE transfer case protection and cross beam. i i

2 Mount Il and right brackels using OE fitlings (A). 1.Bolt M10x30,  SpCs. .+ 47.0Nm

A.Mourt baam on OF holes using OE fittings thraugh the spacer on the left side (8] and (C). 2BotMI0x40 1PC. 1 47.0Nm
4 Mourt countarsunk nut over the hale in chassis (D) And screw in bolt M10x40 for a 2-3 3.Washer 10, 6 pes. !
lurns, 4 Washer spring 101 6pcs.
5 Screw in OE fittings for a few tums (E). 5.Countersunk nut M10x100/50 . 1 pc. i
E.Mount skid plate: rear part meunt on installed bolts, frent part mount on brackets uging &.Left bracket | 1 pC. H
bolts M10:x30, middle part mount on beem wsing bolts M10x30 (F). 7.Right bracket: 1pe. |
T Tighten all scraws with required ongue. 8.Beam. 1pc. !
1

9. Spacer: 1pc.

Tech support: techsupport@rival-europe.com



